EF_t+NE“FEEN £HHFZRIEE
M FE 1k

— R (M4 510 5 )
1A T AASRA .

D y=3x+1; @ y*=a*—1; Q® y=va; @D y=|zl; ® |y l==z.
Hi KRy B MEBRE 1A ( )

(A) 1 4. (B) 2 4. (C) 3 /. (D) 4 A~

2.5 (—7,m) MIE(—8n) #HEHL y=—2x —6 E, W m fin BR/NFEREC )

(A) m > n. (B) m <n. (C) m =n. (D) LAk 2 a9,

3. R, IE A R C )

(A)%a>0,}r\"la>i. (B) Za >a* W a>1.

a
(C) £0<<Ta<<1,0 a>a". (D) & |al|l=a.Ma>0.

_ / 1
4. #E LisB O :a©b =0, 0 3@2:23:8%]3@?%3:( )

1 1 3
(A R (B) 8. © = (D e

5. DLUR T A7 U3 T8 4 40 2 b, N IE B 19 52 )
(A) WXt A4 A ARSF v A 2 -F 47w i .
(B) Wt s AR5 69w 2 - F 47w i 4.
(O ST AZMEH LY T F/FwLH.
(D) —axtih -F47 AR 09 W id B 2 -F AT i .
6. H—MRK R a, It HEA M4t ML BRI R S 5L =ML, EXAEFH =ML NIE
Bl—p P P RISE5h =T = 4 I 2 Fl o ( )

(A) § (B ﬁ © @ (D) g
a a a a
7.8 —199 <x <199, H m=||x |—100 | B 50 m EAHC D
(A) 100 4~ (B) 101 A~ (C) 201 A~ (D) 203 A~.
8.0 M x =2 +V3,Hz®+1=x"6y + 8,0 y M )
(A) 10. (B) 15. (C) 20. (D) 30.
9. If a right triangle has edge lengths a —b, a, and a + 6 (a and 6 are both positive integers) ,
then the perimeter of the triangle might be ( )
(A) 60. (B) 70. (C) 80. (D) 90.

(3% X33 & . right triangle & A = f % ; positive integer 1E# 4L ; perimeter & &)

10. /NE S /N E T 3 SAEFRTH W e ABAT7E R | 8 S0f A S TR N E
TR 3 FBRERTT O, Al 2 /NI B H , JFoR /N 1 T3R8 LU E B 6 (8] A /N IE 42 4 43 2R
ZEA A A O T RAE 3 AEE N E IR A ( ) (i # B Ja))

(A) 26 54t (B) 28 4-4F. (C) 30 4-4t. (D) 32 5-4F.

ZAHEZFEEIAA 40 50

T3 50— 125, (e — 2% — .

12, 38,2200 92012 gl 92 9 ]



13. A KA lem /NE T TEAE S A AN & 1 BT s B3R ETE U SE » vk BT 458 R T /4 T8
Ko em. (A#£F n 9REXAF)
4 HWADBRE y=ax +0 My =cax +5,FFEHFRBENMNEAROE S IERMABFRG, —2),2

LRI ¢ TS AR ) Ry = b BT

D C

F

0 L0 LLL G%

#1k H2R %3k A— B
A1 & 3

15. Wi 2, = 1F e 6 R B K 43 X R F T . Oy =ax s Qy =bax ,Qy =ca » 5K a.b,
¢ I/INBITRHES , D) >4 J2 )

16. W& 3,76 1E ¥ ABCD W, E .G .F 75l /& AB \AD \BC i1 L) i .47 BE =2AE ,AG =1,
BF =2,/GEF =90°,ll] GF By J&

17. —/\:ﬁa%é’~ FIBK AR 3,5,7, 5‘7 D= =R A5 3, 32 —2, 22
— 1A XA =M% 0 o fE R

18. AH . & N = %ﬂPF‘Tun,m’JEﬁMﬁF T, WlfﬁF,ﬁﬁB 15 JG; I H 4 . 2 10 4. 7 144,55
4.20 JG. HWWH 4 A 1 JG.

19, W ab RIHL o — = U i

20. B A KT 20 BYIEMS RIS UM AL LA 50 — AU B RN 4

A9 — Lo T L. U 9 (2 L s
= BABEEITEG NS 5. £ 10 H.) ?g
21. 2 I 10 8 8UE R — R & 2k ) L SRR K 2 BE (] 10 . Eli 8
2 BN DL R AR g it B R 4L UL Ut P AT, A6 [ 0 17 < 9—|;|77i>ﬁ'%£4§:
BRI REA R R -
22,958 |« —| 22 + 1| | =3 W af; i
23 BT w W T AR o

1
24, Let x (y + 7) =2013, x and y are both positive integers, then the largest value of x +
x

v is , the smallest value of x + y is . (323X 34 $ ; value 15)

25. B %la+b+c=0.a=b>c,a#0, U"J ) fe RAE & e/ ME 2

B A0 (4 A2 10 4. 3% 20 4D

1. AR b 9 A0 2 50 T8, B RS A A B J2 60 JT . JLIT 24 AR A A 3K 1220 JT I K T 3K PO R & » 4T
B2 AR SE Y A RS S B AN TR DU NI UCR W 1 K e 2 A Jifr.

2. R B A B L A 1 O R Elnd A B TR, T 134,258 I8 A =B g B
THEH A=A BT R 3 IR RO A~
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